Homework 2.2

This week we learned about friction, air density, lift, and drag. There are two forces we
learned about and used in the homework, lift force and drag force. In order to find the drag
force, we must first use the Reynolds number to determine the drag coefficient of our object.
After finding the Reynolds number, we simply look at a chart that is for the type of object we
are measuring. In some cases, the temperature or the altitude will need to be taken into
account, in which case we look up the various properties in the glossary at the back of the book.
At the end of the week we touched on flow measurements with variable head types. We also

went over a new equation to find the flow rate inside a pipe v; = C where “C” is the

discharge coefficient that we can find by using the Reynolds number and coming it to another
graph.
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